ELM1085DG n4R—5 3ALDO EFY=7LXaL—%

Wi E

ELM1085DGIE/NMR—57OtRADEROY T 7IRNEERE (LDO) L¥aL—4 T, 3ADHADERS
EAHY., BERRELQEREY—TILrvy N IVERBLTWET, ELM1085DGICIFRIZEH HEIDH

BHYEY,

5K

« HOEE (HEHAR) : 1.27V~5.55V

e SAvL¥al—3v
c BREL¥aiL—ay

: Typ.
: Typ.

0.5%
0.5%

A&

~vq(on7atyyAER
NyT)—=Fr—Tv—
EERLF¥2L—%

- LDO EFE : Typ.1.3V(ARIER3A) c BYRY)=FLFXaL—¥
o« Nylr—Y : TO-252 « ZAvFV I ERBARAN FalL—%
Wit B K EME
HHE k=] RSB B
BREE Vce 7 \Y;
BENLEES Pd P ER I FR w
I (FEAW—/ v —JKRERH) ROjc 5 T/W
Bk (EAE—EEE) ROja 70 ‘C/W
3ERE Top 0~+125 C
RELRE Tstg -40~+150 T
D—REE (F¥HMF10®) Tlead 260 C
| RAV S EVIIEEN
ELM1085DG-S
R

a Nylr—o D: TO-252 ELM1085 I,I? CT; B %

b BEN—T3y G b

c S—CUTER S "or— Jr VB ab ¢
(5 >—C 7 hAE—BEOH
WGBS

TO-252(TOP VIEW)
TAB
T RS | IwFies
1 ADJ/GND
2/TAB VOUT
3 VIN
1 2 3
1 H
1 AN
=Ll

3-1




ELM1085DG n4R—> 3ALDO BEFE)=7L¥2L—%

M5 R O R
* Vout=Vref (1+R2/R1)+ladjXR2
VinO—¢4 ELM1085DG ot —OVout
L == Vref R1 —=—
ST AD] | T o
ladj R>
O ® —O

(3%) 1. Cin IXEBRHNSDIEBEISZEWGRICHETY
2.Cout FHANEEDLZEMED/-DITKHETTY
3. HATAVTFUHEI0OuF L EDY VI AV T oS EHEELET

W E AR

Top=25T
HH k] M Min. | Typ. | Max. |B{I
HAEBZE Vref lout=10mA, Vin=5V 1.23| 1.25 |1.27| V
ANLEE AVout/AVin [lout=10mA, Vin=(Vout+1.5V)~7V 0.5 2.0 | %
BRETEE AVout/ Alout|lout=10mA~3A, Vin-Vout=3V 0.5 25 | %
AN/ HAOEEE Vdif lout=3A, AVref=1% 1.30 | 145 | V
B HIR llim Vin-Vout=2V 4 5 A
=/NEBEER Il (min) 1.5V=(Vin-Vout)=5.75V 10 mA
AEEVER ladj 55 100 | LA
. VoutX
RMS HA/4X Vn 0.003% mV
. f=120Hz, Vin=5V, lout=3A
I]w ] ] 7]
)y T IVERELE RR Cout=22 uF 60 72 dB
WY—F*27
TO-252
[ |
NIKOS L : LDO
L1085DG 1085 : HHBF=SI—NK
abcdefghi D : PKG #4147 (TO-252)
G : Pob 7)== <v—4
H ] H a~i : #H%3—K
~1 AN
=Ll N\
TECHNOLOGY

3-2



ELM1085DG n4R—> 3ALDO BEFE)=7L¥2L—%

MR AR

4 R

Dropout Voltage vs. Output Current
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Short-Circuit Current vs.Temperature
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